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BtbEE (play puzzle)

B HEZREZEYRIEML - BEEFER

Which is ? Pick one.
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btpfE (play puzzle)
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SING A SONG .
repeat “

EHINHEZEYRIEML - FEEEFE

. o

Flower,  stem

leaves and roots

https://www.youtube.com/watch?v=RSBcMYYEwtM



SING A SONG .
repeat
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" . And the seed grows
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MY OBSERVATION(F: 11y i 22)
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*| can see *| can’t see

a flower roots(in the soil)
a stem

fruits seeds(in the fruit)

and leaves




Plant need () to grow.




Plant need () to grow.
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Plants need

sun > water * air * soil and space

to grow.
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